temp Degk

temp Degk

temp Degk

temp Degk

decO/ turret room temp

90 F ‘ ]
o 1071202
85— —0/1203
- 4071204
80 — 071205
E 2071206
75 2071207
= ~
70E .
65 N
0 10 15 20
hour of day
decO/ turret room temp
90 F ‘ ‘ 1071208
= 071209
85— 071210
= 2071211
80— —071212
C 071213
75 071214
/70
65
0 10 15 20
hour of day
decO/ turret room temp
90 F ‘ ‘ 1071215
= 071216
85— 071217
= 2071218
80 —071219
E 2071220
75 =122
c ,
70 Y
65
0 10 15 20
hour of day
decO/ turret room temp
90 F ‘ ‘ 2071222
= 071223
85— —0/1224
= 2071225
80 — —071226
C 2071227
75 071228
70—
= 71237
65

(@)

hour of day



